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9 100kN/mM##BZ % = -~ = -|3m%EiEZ S -~ = = -| 100kN/MiZE#BZ 5 = -~ = -|3m#FB23 =~ - - -
TS 1.00 000 ~ 504 73.98| #hlist | 000 ~ 5.04] 1.89 8.33 ZThLLSE 1.00] 500 ~ 793 73.98| #hList | 500 ~ 7.93| 1.89 8.33
4 100kN/mM#%#BZ % -l -~ = -|3m%E#E 223|000 ~ 0.14] 327 14.37| 100kN/m%#z3 = -~ = -|3mE#BZ%| 500 ~ 7.69| 3.27 14.37
ZThLS 1.00/ 000 ~ 092 15.14] #hist 014 ~  0.92| 3.00 13.20 Zhus 1.00] 500 ~ 7.69 15.14| Zh st | 500 ~ 5.00| 3.00 13.20
4 100kN/mM##8Z % -l -~ = -|3m%E#E2%|000 ~ 034] 344 15.15| 100kN/m%# 2z % = -~ = -|3m%# 2% 1000 ~ 1027| 3.44 15.15
ZhLS 1.00/ 000 ~ 234 36.20] #huist 034 ~ 234] 3.00 13.20 Zhus 1.00] 500 ~ 10.27 36.20] #h iyt | 500 ~ 10.00] 3.00 13.20
5 100kN/mM#%# 8% % -l -~ = -|3m%E#E 235|000 ~ 049] 3.71 16.31| 100kN/m%# 2% = -~ = -|3m%E#Ez%| 500 ~ 10.16] 3.71 16.31
ZThLS 1.00/ 000 ~ 1.60 26.81] #hList | 049 ~ 1.60] 3.00 13.20 Zhus 1.00] 500 ~ 10.16 26.81| #hbiist | 500 ~ 5.00| 3.00 13.20
6 100kN/mM#%# 8% % -l -~ = -|3mxE#E2%|000 ~ 065 4.13 18.16]| 100kN/m%# 2% = -~ = -|3m%E#Bz%| 500 ~ 11.20] 4.13 18.16
ZhLS 1.00/ 000 ~ 1.69 18.06] Zh st | 065 ~ 1.69] 3.00 13.20 Zhus 1.00] 500 ~ 11.20 18.06] #nLi4t | 500 ~ 500/ 3.00 13.20
7 100kN/mM#%#BZ % -l -~ = -|3m%#%%| 000 ~ 0.58] 3.92 17.24]| 100kN/m%Z#B 25 = -~ = -|3m%i#Bzx%| 500 ~ 11.12| 3.92 17.24
ZThLS 1.00/ 000 ~ 164 22.66] Thrls | 058 ~ 1.64] 3.00 13.20 Zh LS 1.00] 500 ~ 11.12 22.66] Thils | 500 ~ 5.00| 3.00 13.20
8 100kN/mM#%# 8% % -l -~ = -|3m%E#2%|000 ~ 040| 354 15.57| 100kN/m%# 2z % = -~ = -|3m%# 2% 1000 ~ 11.06] 3.54 15.57
Lot 1.00{ 0.00 ~ 220 34.36| ZnList | 040 ~ 220| 3.00 13.20 Zh st 1.00f 500 ~ 11.06 34.36| Zn Ly | 500 ~ 10.00f 3.00 13.20
9 100kN/mM##BZ 5 -l -~ = -|3mzEZB| - ~ = = -| 100kN/ %22 = -~ = -|3m%EiEZ S -~ = = =
ZnLst 1.00{ 0.00 ~ 1.36 23.78] #nList | 000 ~ 1.36] 2.88 12.69 Zhn st 1.00f 500 ~ 7.01 23.78| #nist | 500 ~ 7.01| 2.88 12.69
10 100kN/mM##BZ % -l -~ = -|3mzEZB| - ~ = = -| 100kN/ %22 = -~ = -|3m%EiEZ S -~ = = =
Zrn Lot 1.00] 0.00 ~ 238 36.73| ZnList | 000 ~ 238] 2.55 11.20 st 1.00f 500 ~ 6.86 36.73] #nlist | 500 ~ 6.86) 255 11.20
11 100kN/mM##BZ % -l -~ = -|3mzEZB| - ~ = = -| 100kN/ %22 = -~ = -|3m%EiEZ S -~ = = =
ZnLst 1.00{ 0.00 ~ 251 38.35| ZnList |0.00 ~ 251 249 10.95 Zh st 1.00f 500 ~ 6.62 38.35| #nList | 500 ~ 6.62 249 10.95
12 100kN/mM##BZ 5 -l -~ = -|3mzEZB| - ~ = = -| 100kN/ %22 = -~ = -|3m%EiEZ S -~ = = =
ZnLst 1.00{ 0.00 ~ 259 39.50| ZnList | 000 ~ 259| 244 10.75 Zhn st 1.00f 500 ~ 6.40 39.50| #n Lyt | 500 ~ 640 244 10.75
13 100kN/mM##BZ % -l -~ = -|3mzEZB| - ~ = = -| 100kN/ %22 = -~ = -|3m%EiEZ S -~ = = =
Zhn Lot 1.00{ 0.00 ~ 3.82 56.17| ZnList |0.00 ~ 3.82| 1.70 7.50 Zzh st 1.00f 500 ~ 550 56.17| #n iyt | 500 ~ 550 1.70 7.50
100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/mM%#BZ % ~ ImEBZD ~
Zhst ~ Zh s ~ Zh LS ~ ZhLS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zhst ~ Zh s ~ Zh LS ~ ZhLS ~
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